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e p: UIDOOF,0000000O02000000

C:Y?=F(X), FeFy[X]: monic, deg F=5, 0000000
Jo(F,)0000 = FOF,000

e pl FrobeniusOO ¢p:Jo—Jc Uppd0ODOOO x

1Jc(Fp) = x(1)

e YUIDODDODDODODDODODUOOOOOOEReNOOOO

[x(¢p) mod 2F]D, = 0, for "Dy, € Jo[2"]
00000 ymod 2000000 - 2000000000000 000



Gaudry HarleyO 200000000000 OOO

200000000000 20000000000
Dy €Jcl2] — -+ D; € Jo[2'] — Dig1 s.t. [21Dp1 =D; -+ — Dy, € Jo[2"]

D,0200000
Di :(X2 —I—’U,]_X _I_U’Oale +UO), u1,u,v1,v0 € Fq

[21(X2 4+ U1 X + Ug, V1 X + V) = D;

- 0o Uy, Ug, V7, VUt
- 00000 U; <xUg=<Vy <Vy Grobner0 0 -

My(Uyp) =0, Ug = Mg(Uy), V1 = L1(U1), Vo = Lo(U1),
M1, Mg, L1, Lg € Fy[U;1], deg Mg, deg L1,deg Lo < deg M1 = 16

Ml(a) =0
& (X2 4 aX + Mo(a), L1(a) + Lo(e)) € {D | [2]D =D;}
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My, L1, LoO0O0OJo[2]0000000 M100000

Do := (X% + U1 X + Mg(U1), L1(U1) X + Lo(Uy)), g € Io[2]
— Do+ g = (x2+ U9 U)X + Ul (Uy), vi9 () x 4+ VP (Uy))

U9 e B [U4]/(M1)0Dg000000 M;00000

Jol21 2 G322 Go2 G122 Go
| | | 2| ZII
(Z/22)* (Z/22)° (Z/22)? (Z/2Z) {0}
0000
s, (U1) = Y USP(U1) € Fg[U1]/(M1)
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sq,(U1)0F, 0000000 - 200007300 a3
~50,(U1)0F(a3)0000000 - 200007200 a
~56,(U1) 0 Fglas,a)0000000 - 200007100 o

= 56,(U1) 0 Fylasz,a0,01) 0000000 - 20000 Tp00 ag
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o O, 000000DO0D20000002000000000000000O

o I3, I, Ty, T UIUIOOUIODN - MjOUOOODOOUOOOOOOOOOO
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00 1 M; eF[U4]0000F,0002000000000

i €N, D; € Jo[2N\Ic[2 0D} = ¢,,(D), 0<j <3
. 2 3
F: Fp,000 = Jo[2)] = (D;, DY, DY, DY)

Fo: D,0000000000 = Jo[2] € Jo[24 C Ja(Fy)
Jol2] € Jo(F,)D0O0DO 2D =D; = DI° =D

{D|[2]D =D;} = { (X2 + aX + Mo(a), L1(e) + Lo()) | M1(a) = 0}
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00 2 My €F[U3]0F,000000000000000
i €N, D; € Ic[2N\Jc[27 1], Digq s.t. [2]1D;41 =D;, g € Je[2]0

Jol2) C Je(Fg) = D410 D41 +¢g00000000000OO

{Div1+glgelcl2]} ={D|[2]D = D;}
= {(X? 4 aX + Mo(@), L1(a) + Lo(a)) | M1(e) = 0}

o1, 00200

16
My =(X—-a1)(X —a2)-- (X —a15)(X — a16)
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To,000000Gs, Go, G1OO0O
ToOF,000 = 7400 a1 €Fy = sg,(U1)0 M000000

Jol2] = (91,92, 93,94)

G1 = (91) € G2 = (91,92) € G3 = (91,92, 93)

D
U\P)(U1) = U7 mod My (U7)
00000Delo2]000 - g1:=D

0000000000U¢ mod My(U;)0000000

00000000000D - G3, Go, Gi0000 10000000
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200 0000200000000 20000000

DﬂQDDD_+Dﬁl:%X2+MX+%%H”J#+UX+L9HB

00 34> 10D; € Jo[20\Jc[2¢Y0F,: D, 00000000000
[21D;+1 = Di, Dit1 € Jo(F 2)\Jc(Fe) OO OO

"D € Jo[2]\{0} : D;41 + D=DZ
0O0DOoOO

~ 2
Dito+D = DZC'I—I—Q

Ooogdon
. 2
i>1 = Jol4] CIo2Y] CJo(Fy) = D,L-q_|_1 —Dijy1 = D;;J_|_2 —Dj4o

L 0D000040000007Ts, T, 4O00OO0OOT,000
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HRERERE

o CPU: Athlon64 2.4GHzO Magma V2.12-22
e p=5x 1024 + 8503491, C: GaudryOd Schost0 0O OO0

e 00D, eJo[4]000000D02000000

20000DP,00000((3<:i<10) (0O O)

D3 | Dy | Ds| D | Dy Dg Doy Dio

G,0oooon | 39| 92| 354 | 684 | 4062 | 17716 | 65665 | 367387

OO JANTOO | 45| b5 288|326 | 921 | 4950 | 21648 | 89978

Joog 44 | 52 | 260 | 275 | 719 | 3162 | 13061 | 42215
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200000000000 7;0000000

D3 | Dy | Ds| D | D7 | Dg Doy Dio

0 1 1 3 14 57 279 1669

T3 0 1 4 13 72 746 2329 | 10676
0 1 7| 24 73| 490 | 3539 | 13295

1 O| 13| 71 484 | 2906 | 10678 | 82808

1> 1 1 !’ 21 59 610 5354 | 21498
1 1, 10 16 58| 735 | 4154 | 10294

1 7| 15| 148 | 1377 | 2306 | 13592 | 54902

11 1 1 9 18 59 6l7 2362 | 10619
1 1 4 13 86 743 2347 | 10426

1 7| 13| 58| 483 | 5317 | 10849 | 83371

1o 1 1 1 3 14 59 288 1671
1 0 1 3 14 58 284 1644
U{modMy | 5| -| - - - - - -
5 _ _ _ _ - - _

Do:G;uooouooon: oo JANTOOO: 0000000 o
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D3 | Dy | Ds | Dg | Dy Dg Dg D19

0 1| 11| 20 90 717 | 3432 | 15694

13 0 0 51 10 46 3590 | 1717 7866
0] 0 O 0] 0] 0 0] 0

0 51 10| 45 | 354 | 1694 | 7815 | 40140

> 0| 0| 5| 10| 45| 351 | 1699 | 7642
0 0 0 0 0 0 0 0

0] 51 10| 45 | 352 | 1698 | 7866 | 40614

11 0 0 51 10 46 356 | 1727 7765
0 0] 0] 0] 0] 0 0] 0

0] 51 10| 45 | 353 | 1700 | 7938 | 40383

1o 0 1|11 20 92 714 | 3439 | 15604
0 0 0 0] 0] 0 O 0

G; 00000000000 JANTO0OD: 0000000 0
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Algorithm 1 20 00000000000000O0

Input: C:Y2=F(X), FOF,0000000050000,000m >3
Output: Dy, € Jo[2m\Jo[27 1]

1. D1 €elJo2l00 Dy elJo[4]000

2. Go — {0}, G1 — (D1), Go — (D1,DY), G3 «— (D1, D%, DF")
3: flag « false

4: for t:=2tom—1 do

5: D;,02000000u0d0d My, Mo, Ly, Lo OO

6: if flag=false then

7: My, L1, Lo00 G,00000M.00 000

8: if o ¢ F, then

9: flag «— ture

10: v (Uy) = U mod M;00000 20000 POOL
11: Gq «— <ﬁ>, Go «+— <ﬁ,ﬁp>, G3 «— <ﬁ,ﬁp,ﬁp2>

12: else

13: Mo, L1, LoOO0 G;00000M;00«000(7y0000000)

14:  Dijyq « (X% 4 aX 4+ Mg(a), L1(a)X + Lo(a))
return D,,
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